



VEHICLE NO: SNN1160A

AKE/MODEL: MAZDA3 4DR 1.5 AT M-HYBRID CLASSIC I2

MFG YEAR: 2023

CHASSIS NO: JM6BP2SAAP1153439

ESTIMATE

	PARTS	QTY	UNIT PRICE	GROSS PRICE
1	FRONT WINDSCREEN GLASS	1	\$1,050.00	\$1,050.00
2	FRONT WINDSCREEN GLASS MOULDING	1	\$170.00	\$170.00
3	BONNET	1	\$850.00	\$850.00
4	BONNET HINGE LH	1	\$100.00	\$100.00
5	BONNET HINGE RH	1	\$100.00	\$100.00
6	BONNET INSULATOR	1	\$255.00	\$255.00
7	BONNET STAND	1	\$78.00	\$78.00
8	BONNET LOCK CATCH	1	\$85.00	\$85.00
9	BONNET LOCK	1	\$160.00	\$160.00
10	BONNET LOCK COVER	1	\$35.00	\$35.00
11	BONNET LOCK CABLE	1	\$95.00	\$95.00
12	BONNET SEAL	1	\$76.00	\$76.00
13	HEADLAMP LH	1	\$1,950.00	\$1,950.00
14	HEADLAMP RH	1	\$1,950.00	\$1,950.00
15	HEADLAMP ECU LH	1	\$600.00	\$600.00
16	HEADLAMP ECU RH	1	\$600.00	\$600.00
17	FRONT GRILLE LOGO	1	\$86.00	\$86.00
18	FRONT GRILLE LOGO BASE	1	\$78.00	\$78.00
19	FRONT GRILLE	1	\$600.00	\$600.00
20	FRONT GRILLE CHROME LH	1	\$115.00	\$115.00
21	FRONT GRILLE CHROME RH	1	\$115.00	\$115.00
22	FRONT GRILLE BASE	1	\$340.00	\$340.00
23	FRONT GRILLE BRACKET	1	\$250.00	\$250.00
24	FRONT TOW COVER	1	\$86.00	\$86.00
25	FRONT BUMPER TOP SEAL	1	\$78.00	\$78.00
26	FRONT BUMPER TOP PANEL	1	\$160.00	\$160.00
27	FRONT BUMPER	1	\$850.00	\$850.00
28	FRONT BUMPER LOWER GRILLE	1	\$195.00	\$195.00
29	FOGLAMP COVER	1	\$130.00	\$130.00
30	FOGLAMP	1	\$200.00	\$200.00
31	FRONT PARKING SENSOR CTR LH	1	\$190.00	\$190.00
32	FRONT PARKING SENSOR CTR RH	1	\$190.00	\$190.00
33	FRONT PARKING SENSOR LH	1	\$190.00	\$190.00
34	FRONT PARKING SENSOR RH	1	\$190.00	\$190.00
35	FRONT PARKING SENSOR BRACKET	4	\$35.00	\$140.00
36	FRONT BUMPER SIDE RETAINER LH	1	\$75.00	\$75.00
37	FRONT BUMPER SIDE RETAINER RH	1	\$75.00	\$75.00

38 FRONT BUMPER BRACKET LH	1	\$70.00	\$70.00
39 FRONT BUMPER BRACKET RH	1	\$70.00	\$70.00
40 FRONT BUMPER SPONGE	1	\$95.00	\$95.00
41 FRONT BUMPER REINFORCEMENT	1	\$480.00	\$480.00
42 FRONT BUMPER LOWER BEAM	1	\$285.00	\$285.00
43 FRONT FENDER LH	1	\$350.00	\$350.00
44 FRONT FENDER RH	1	\$350.00	\$350.00
45 FRONT FENDER EMBLEM LH	1	\$100.00	\$100.00
46 FRONT FENDER EMBLEM RH	1	\$100.00	\$100.00
47 FRONT FENDER COWLING LH	1	\$180.00	\$180.00
48 FRONT FENDER COWLING RH	1	\$180.00	\$180.00
49 FRONT FENDER COWLING EXTENSION LH	1	\$78.00	\$78.00
50 FRONT FENDER COWLING EXTENSION RH	1	\$78.00 \$78.00	\$78.00
51 FRONT FENDER COWLING MUDFLAP LH	1	\$115.00	\$115.00
52 FRONT FENDER COWLING MUDFLAP RH	1	\$115.00 \$115.00	\$115.00
53 FRONT FENDER TOP GARNISH RH	1	\$95.00	\$95.00
54 FRONT FENDER END INSULATOR RH	1	\$93.00 \$100.00	\$100.00
55 FRONT FENDER END COVER RH	1	\$78.00	\$78.00
56 FRONT SUPPORT	1	:	
57 FRONT SUPPORT TOP GARNISH	1	\$590.00	\$590.00
	1	\$85.00	\$85.00
58 AIR DEFLECTOR (BCKC50A20B	1	\$200.00	\$200.00
59 AIR INTAKE COVER (BCKA507M0A	1	\$230.00	\$230.00
60 AIR DUCT	1	\$140.00 \$160.00	\$140.00
61 HORN 62 FRONT WIPER TANK	1	\$160.00	\$160.00 \$170.00
	1	\$170.00	\$170.00
63 FRONT WIPER TANK MOTOR	1	\$115.00	\$115.00
64 FRONT WIPER TANK NECK	1	\$85.00	\$85.00
65 FRONT WIPER TANK CAP	1	\$35.00	\$35.00
66 AIRCON CONDENSER	1	\$1,100.00	\$1,100.00
67 AIRCON COMPRESSOR	1	\$1,200.00	\$1,200.00
68 PIPE - COMPRESSOR / CONDENSER	1	\$420.00	\$420.00
69 PIPE - EVAPORATOR / COMPRESSOR	1	\$500.00	\$500.00
70 PIPE - CONDENSER / EVAPORATOR	1	\$850.00	\$850.00
71 RADIATOR	1	\$780.00	\$780.00
72 RADIATOR HOSE LH	1	\$100.00	\$100.00
73 RADIATOR HOSE RH	1	\$95.00	\$95.00
74 RADIATOR TOP MOUNTING	1	\$78.00	\$78.00
75 RADIATOR BOTTOM MOUNTING	1	\$50.00	\$50.00
76 RADIATOR SIDE GUIDE	1	\$75.00	\$75.00
77 RADIATOR LOWER COVER	1	\$170.00	\$170.00
78 RADIATOR FAN COWLING ASSEMBLY	1	\$320.00	\$320.00
79 EXPANSION TANK	1	\$145.00	\$145.00
80 EXPANSION TANK HOSE	1	\$95.00	\$95.00
81 FUSE BOX	1	\$750.00	\$750.00
82 STARTER MOTOR	1	\$770.00	\$770.00
83 ALTERNATOR	1	\$1,120.00	\$1,120.00

84	V-BELT	1	\$95.00	\$95.00
	AIR FILTER RESONATOR	1	\$145.00	\$145.00
86	AIR FILTER TOP COVER	1	\$130.00	\$130.00
87	AIR FILTER HOUSING	1	\$230.00	\$230.00
88	AIR FILTER ELEMENT	1	\$95.00	\$95.00
89	WATER PUMP	1	\$200.00	\$200.00
90	INTAKE MANIFOLD	1	\$510.00	\$510.00
91	THROTTLE BODY	1	\$580.00	\$580.00
92	OIL PUMP	1	\$280.00	\$280.00
93	ENGINE MOUNTING LH	1	\$315.00	\$315.00
94	ENGINE MOUNTING RH	1	\$250.00	\$250.00
95	ENGINE MOUNTING REAR	1	\$240.00	\$240.00
96	ENGINE MOUNTING BRACKET	1	\$160.00	\$160.00
97	ENGINE TOP COVER	1	\$230.00	\$230.00
98	UPPER TIMING COVER	1	\$250.00	\$250.00
99	LOWER TIMING COVER	1	\$230.00	\$230.00
100	PISTON	4	\$340.00	\$1,360.00
101	PISTON RING	4	\$170.00	\$680.00
102	CONROD	4	\$330.00	\$1,320.00
103	CYLINDER HEAD COVER	1	\$340.00	\$340.00
104	CYLINDER HEAD COVER GASKET	1	\$280.00	\$280.00
105	CYLINDER HEAD	1	\$6,800.00	\$6,800.00
106	CYLINDER HEAD GASKET	1	\$284.00	\$284.00
107	ENGINE BLOCK	1	\$9,400.00	\$9,400.00
108	OIL SUMP	1	\$290.00	\$290.00
109	OIL FILTER	1	\$40.00	\$40.00
110	ENGINE UNDER COVER	1	\$340.00	\$340.00
111	REAR WINDSCREEN GLASS	1	\$900.00	\$900.00
112	REAR WINDSCREEN GLASS MOULDING	1	\$170.00	\$170.00
113	C-PILLAR TRIMBOARD - UPPER RH	1	\$340.00	\$340.00
114	C-PILLAR TRIMBOARD - LOWER RH	1	\$330.00	\$330.00
115	REAR PARCEL SHELF	1	\$510.00	\$510.00
116	PARCEL SHELF PANEL	1	\$1,120.00	\$1,120.00
117	THIRD BRAKE LIGHT	1	\$250.00	\$250.00
118	BOOTLID	1	\$1,000.00	\$1,000.00
119	BOOTLID EMBLEM - MAZDA 3	1	\$75.00	\$75.00
120	BOOTLID EMBLEM - HYBRID	1	\$73.00	\$73.00
121	BOOTLID EMBLEM - SKYACTIVE	1	\$73.00	\$73.00
122	BOOTLID LAMP LH	1	\$520.00	\$520.00
123	BOOTLID LAMP RH	1	\$520.00	\$520.00
124	BOOTLID LOCK	1	\$170.00	\$170.00
125	BOOTLID WEATHERSTRIP	1	\$200.00	\$200.00
126	BOOLID TRIM	1	\$340.00	\$340.00
127	BOOTLID HINGE LH	1	\$95.00	\$95.00
128	BOOTLID HINGE RH	1	\$95.00	\$95.00
129	TAILLAMP LH	1	\$630.00	\$630.00

	TAILLAMP RH	1	\$630.00	\$630.00
	REAR FENDER LH	1	\$1,150.00	\$1,150.00
	REAR FENDER RH	1	\$1,150.00	\$1,150.00
	REAR FENDER WHEELHOUSE INNER PANEL RH	1	\$640.00	\$640.00
	REAR FENDER WHEELHOUSE OUTER PANEL RH	1	\$600.00	\$600.00
	REAR FENDER AIR VENT RH	1	\$78.00	\$78.00
	REAR FENDER COWLING RH	1	\$170.00	\$170.00
	REAR FENDER INNER TRIMBOARD RH	1	\$340.00	\$340.00
	REAR BUMPER	1	\$770.00	\$770.00
	REAR BUMPER PARKING SENSOR	1	\$190.00	\$190.00
140	REAR BUMPER REFLECTOR LH	1	\$150.00	\$150.00
141	REAR BUMPER REFLECTOR RH	1	\$150.00	\$150.00
142	REAR BUMPER TOW COVER	1	\$70.00	\$70.00
143	REAR BUMPER SIDE RETAINER LH	1	\$60.00	\$60.00
144	REAR BUMPER SIDE RETAINER RH	1	\$60.00	\$60.00
145	REAR BUMPER REINFORCEMENT	1	\$340.00	\$340.00
146	REAR BUMPER UNDER COVER	1	\$170.00	\$170.00
147	REAR BUMPER UNDER SIDE COVER	2	\$160.00	\$320.00
148	END PANEL	1	\$915.00	\$915.00
149	END PANEL TOP GARNISH	1	\$240.00	\$240.00
150	REAR DOOR RH	1	\$950.00	\$950.00
151	REAR DOOR BLACK TAPE	1	\$52.00	\$52.00
152	REAR DOOR LOCK RH	1	\$200.00	\$200.00
153	REAR DOOR WEATHERSTRIP RH	1	\$170.00	\$170.00
154	FRONT WHEEL RIM	2	\$680.00	\$1,360.00
155	FRONT WHEEL BEARING	2	\$420.00	\$840.00
156	FRONT WHEEL HUB	2	\$340.00	\$680.00
157	FRONT KNUCKLE	2	\$540.00	\$1,080.00
158	FRONT LOWER ARM	2	\$395.00	\$790.00
159	FRONT SHOCK ABSORBER	2	\$330.00	\$660.00
160	FRONT SHOCK ABSORBER MOUNTING	2	\$145.00	\$290.00
161	STABILIZER BAR	1	\$280.00	\$280.00
162	STABILIZER LINK	2	\$240.00	\$480.00
163	STABILIZER MOUNTING	1	\$52.00	\$52.00
164	FRONT DRIVE SHAFT	2	\$990.00	\$1,980.00
165	FRONT TIE ROD	2	\$100.00	\$200.00
166	STEERING RACK	1	\$2,280.00	\$2,280.00
167	FRONT CROSSMEMBER	1	\$760.00	\$760.00
168	FRONT CROSSMEMBER SUPPORT REINFORCEMENT	1	\$410.00	\$410.00
169	REAR WHEEL RIM	2	\$680.00	\$1,360.00
170	REAR WHEEL BAERING	2	\$340.00	\$680.00
171	REAR WHEEL HUB	2	\$330.00	\$660.00
172	REAR BRAKE DISC	2	\$200.00	\$400.00
173	REAR BRAKE CALIPER	2	\$425.00	\$850.00
174	REAR BRAKE UNIT	2	\$340.00	\$680.00
	REAR BRAKE HOSE	2	\$95.00	\$190.00
			' '	•

	REAR ABS SENSOR	2	\$240.00	\$480.00
	REAR KNUCKLE	2	\$420.00	\$840.00
	REAR SHOCK ABSORBER	2	\$330.00	\$660.00
	REAR SHOCK ABSORBER MOUNTING	2	\$160.00	\$320.00
180 I	REAR UPPER ARM	2	\$340.00	\$680.00
181 I	REAR LOWER ARM	2	\$330.00	\$660.00
182 I	REAR TRAILING ARM	2	\$320.00	\$640.00
183 I	REAR LATERAL ARM	2	\$240.00	\$480.00
184 I	REAR AXLE FRAME	1	\$850.00	\$850.00
185 I	REAR EXHAUST SILENCER	1	\$850.00	\$850.00
186 (CTR EXHAUST PIPE	1	\$765.00	\$765.00
187 I	EXHAUST RUBBER MOUNTING	1	\$60.00	\$60.00
188 I	FUEL TANK	1	\$1,445.00	\$1,445.00
189 I	FUEL TANK PROTECTION	1	\$285.00	\$285.00
190	SRS IMPACT SENSOR	1	\$285.00	\$285.00
191 /	AIRBAG ECU	1	\$850.00	\$850.00
192 /	AIRBAG - DRIVER	1	\$2,150.00	\$2,150.00
193 /	AIRBAG - CLOCK SPRING DRIVER	1	\$520.00	\$520.00
194 /	AIRBAG - DRIVER KNEE	1	\$1,100.00	\$1,100.00
195 /	AIRBAG - PASSENGER	1	\$1,700.00	\$1,700.00
196 I	FRONT SEAT BELT LH	1	\$580.00	\$580.00
197 I	FRONT SEAT BELT RH	1	\$580.00	\$580.00
198 I	FRONT SEAT BELT BUCKLE LH	1	\$200.00	\$200.00
199 I	FRONT SEAT BELT BUCKLE RH	1	\$200.00	\$200.00
200 I	REAR SEAT BELT LH	1	\$580.00	\$580.00
201 I	REAR SEAT BELT RH	1	\$580.00	\$580.00
202 I	DASHBOARD PANEL	1	\$3,300.00	\$3,300.00
203 I	HYBRID BATTERY	1	\$7,650.00	\$7,650.00
			SUB-TOTAL	\$114,136.00
			+ 10%	\$11,413.60
			PARTS TOTAL	\$125,549.60
9	S/NETT PARTS	QTY	UNIT PRICE	GROSS PRICE
_	SEALANT - FRONT WINDSCREEN	1	\$80.00	\$80.00
	SEALANT - REAR WINDSCREEN	1	\$80.00	\$80.00
	SEALANT - BODY JOINT	1	\$80.00	\$80.00
_	COOLANT	1	\$120.00	\$120.00
	ENGINE OIL	1	\$250.00	\$250.00
	BRAKE FLUID	1	\$80.00	\$80.00
_	FRONT NUMBER PLATE	1	\$60.00	\$60.00
	FRONT TYRE LH	1	\$280.00	\$280.00
_	FRONT TYRE RH	1	\$280.00	\$280.00
	REAR TYRE LH	1	\$280.00	\$280.00
10 1	NEAN LINE EIL	l l	Ψ200.00	φ∠00.00
11 1	REAR TYRE RH	1	ቀንደባ ባባ	ተጋይባ በባ
	REAR TYRE RH BONNET INSULATOR CLIPS SET	1 1	\$280.00 \$90.00	\$280.00 \$90.00

13	FRONT BUMPER RIVET SET	1	\$60.00	\$60.00
14	FRONT BUMPER CLIPS SET	1	\$90.00	\$90.00
15	FRONT FENDER COWLING CLIPS SET	1	\$180.00	\$180.00
16	BOOLTID TRIM CLIPS SET	1	\$90.00	\$90.00
17	REAR BUMPER CLIPS SET	1	\$90.00	\$90.00
18	END PANEL GARNISH CLIPS SET	1	\$60.00	\$60.00
19	REAR FENDER INNER TRIM CLIPS SET	1	\$180.00	\$180.00
20	REAR FENDER COWLING CLIPS SETT	1	\$180.00	\$180.00
21	REAR DOOR TRIM CLIPS SET	1	\$80.00	\$80.00
			S/N TOTAL	\$2,970.00
	LABOUR:	_		GROSS PRICE
	TO REMOVE & REFIT FRONT WINDSCREEN GLASS	S		\$150.00
	TO REMOVE & REFIT REAR WINDSCREEN GLASS			\$150.00
_	TO CHECK & RECTIFY WIRING.	. .		\$120.00
4	TO REMOVE & REPLACE FRONT PARKING SENSO DIAGNOSE FUNCTION	R &		\$80.00
5	TO REMOVE & REPLACE REAR PARKING SENSOR DIAGNOSE FUNCTION	. &		\$80.00
6	TO REPROGRAMME AFTER THE ACCIDENT REPAIR WORKS	R		\$350.00
7	TO REMOVE & REFIT INTERCOOLER & ATTACHEM	IENT		\$250.00
8	TO REMOVE & REFIT AIRCON CONDENSER & REF	ILL GAS		\$250.00
9	TO REMOVE & REFIT RADIATOR & AFFECTED AFI	ΓΤΙΝG		\$250.00
10	TO TRANSFER REAR DOOR MECHANISM & FITTIN	G		\$150.00
11	TO TRANSFER BOOTLID MECHANISM & FITTING			\$150.00
12	TO REMOVE & REFIT C-PILLAR TRIMMING & FITTII REAR SEAT & CUSHION IN ORDER TO ASSIST WO LOAD	,		\$650.00
13	TO CONDUCT CUT, PANEL BEAT, REPAIR AND REFACCIDENT AFFECTED ITEMS (FRONT)	PLACE		\$1,500.00
14	TO CONDUCT CUT, PANEL BEAT, REPAIR AND REFACCIDENT AFFECTED ITEMS (REAR)	PLACE		\$2,100.00
15	TO RUST PROOFING			\$150.00
16	TO PUTTY & RESPRAY PAINTING ON ACCIDENT AFFECTED AREAS (FRONT)			\$1,500.00
17	TO PUTTY & RESPRAY PAINTING ON ACCIDENT AFFECTED AREAS (REAR)			\$2,100.00
18	TO REMOVE & REFIT FRONT UNDERCARRIAGE DAILEMS	AMAGE		\$450.00
19	TO REMOVE & REFIT REAR UNDERCARRIAGE DAI	MAGE		\$450.00
20	TO CHECK WHEEL ALIGNMENT			\$120.00
21	TYRE BALANCING			\$80.00
22	TO REMOVE & REPLACE DASHBOARD & TRIMMIN	G		\$650.00
23	TO REMOVE & REPLACE SRS SYSTEM & SEAT BE	LT		\$650.00
24	TO REMOVE & REFIT ENGINE & ATTACHMENT. TO OVERHAUL ENGINE			\$3,000.00

25 TO REMOVE & FUEL FILLER & FITTING TO ASSIST WORK 26 TO REMOVE & REAR EXHAUST & FITTING	\$250.00 \$650.00
LABOUR TOTAL	\$16,280.00
GRAND TOTAL BEFORE GST	\$144,799.60